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Raw Data

Median (hi Coh): g = 1.03698

Median (hi Coh & 4 < f < 7 Hz): g = 1.03704

Data with Coh > 0.99999

Data with Coh (4 < f < 7 Hz) > 0.99999

10
-1

10
0

10
1

10
2

10
3

10
4

Frequency (Hz)

0.75

0.8

0.85

0.9

0.95

1

1.05

1.1

1.15

1.2

1.25

In
c
o

h
e

re
n

t 
A

S
D

 R
a

ti
o

(D
C

P
D

 A
 /

 D
C

P
D

 B
) 

[m
A

/m
A

]

Nominal Low Noise, NO SQZ

Raw Data

Data with Coh < 0.0001

Mean Lo Coh: h = 1.01966
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Incoherent ASD Ratio Histogram
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For g = 1.03704; h = 1.01873

Signal to Noise

AA = (2*g)/(h 2  + g)
SNR = 1.427
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Balance Matrix = [0.999628 , 1.00037 ; 0.981979 , -1.01835]
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